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1. (5 points) Given the sets

A = {z|z is an even positive integer < 10}
B = {z|z is a composite number < 12}

C={yly=2>-1, where z isan integer with 0 < z < 4}

(a)  List all elements in each of the above sets to get:

A:EQ,"I,é,fg}, |

3:2‘476)8)?7'0}' |

c=§-1,0,3,8,15 !

(b)  Find theset (ANB)UC.

Aﬂ@:?‘[,é)%:é" . '

7
—_ 2 L < {
(ANB)UC =}-1,0,34, 6%, 15] !
2. (2 points) Write the polynomial (7—5z)(5+8z —3z%) in standard form.

= 35 +(-25+56) x 4 (<40 20 X415 X7 )
= 15X _ 6l x" 43X ¢35 |

3. (2 points) Find the polynomial, in standard form, of the third degree for
which: the leading coefficient = —5, coefficient of z? =0,

coefficient of x = 3, and constant term = —4.

S50 p ot L3 I.S

= _sx® 4 2x _ Yy 0.5
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4000)(8.1 x 10~
4. (3 points) Write the number ( )580012 ) in scientific notation.

[Show your steps].

(4 xlo ) (6] X/oﬂs)

|
¢ X 1o
= s X /OL/ : |
5
- -8 X Jo I
[ 9\0 .=2/3 ,5/3]—1/2
(4 points) Simplify I 3>I;L/6 y—i//Q] , where >0, y >0, then
write your answer in radical form.
y. -%,
-2/ -V Ty - . 3 6
Q@) ()T L Y s
- 7 — 77 = _ -
oo oy S, 2
7y ~ S/ |6
7, _\ - —=, = T 5 b
R e 176
N €
= y.3 _ :72 L ,
S/ 6
pa /6 x>

Factor each of the following as completely as possible over the set of inte-
gers:

(a) (3 points) z* — 12zy + 361° — 22,
= (x*12xy 4369°) - 2

2

- (x—6y)y - 2°

= [()(‘63) - ?J [ (x - 63,)45}
= (x-gy-2) (x-69+2) g

2

e




MATH 001 Exam [ (062)

Page 3 of 6
(b) (3 points) 120:5 — 8y°.
= (5x)° - (Q‘j) PR
= (5x-29°) [(s2) t <'>’)<)<2J )+ zj)J 5
= (S‘x,»z,j )(2,‘5)( + loxY -f—‘fij,J |
(¢) (3 points) =3z 4 6z*" — 32™.
2 M
- 3 (JCMM 2 X +I) .5
" 'R
(d) (2 points) z* — 32? — 4.
- (x'- (Y +1) |
2
_ (_x..g)(,xm}(x +1) I

2 V32
7. (4 points) If A = V5 and B = , then write A4+ B in
2-5 V2

simplest form.

A = (2»_+ \/—5—) (2+\[§)

= 45 +UVS 1.5
(2-V5) (2-¥5) 4 -5

- _9 _4/5 0.5

S y
\/r 272 9 ﬁ ) 1.5

- 4

V2.
l . -5
= (f—- V5 ) p2 = =7 =1V2 ’
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(4 points) The graph of a subset A of real numbers is given by

- =3 -2 - Q 1 2 3 4

and the graph of a subset B of real numbers is given by

A

v

(a)  Sketch the graph of C =ANB.

< vAg.,«.,_,m.,w.h,,.wm%-—-}_w._u..l...,w.{-——-) > 2,

-5 -3 -1 !

(b)  Write C using interval notation.

C = E-S-/B) v ,)

(¢) Write C using inequality notation.

C:§x|—555"<3 of -|\<x<l§~ |

(2 points) Find the product (2z — 3y)*

2 3
= (wc,)3 _ 3(,2.x)2(3j") 4 3(2x)(39) --(33) l

3 2 2 3
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Simplify each of the following expressions:

. 5 2y=5 24y -15
(a) (3 points) 0+ 3) + T I
.5, 2 y-7
[Y+43)" (9-7)(9+3)  (29-5)(Y+3)
= 2 + / = <
(9+3)°  (¥#3)® (9+3)"
. Lyt -y
(b) (4 points) P .
3 Yy-x
_ .5{_ - XY _ ba =
ER SICEN
5 J XY
- g(f- x") o3 _ \jl
X y-x?
_ 5

(¢) (4 points)

r—D(z+2)  2@+2)@-3)

_ S (-3 +5(x-) g 4+
T 200y 42) (X-2) T 9 (-0 (147) (1=3)
2 (x+2) _ l

K]

e

2 () (x42)(x-3)  (x-n(x-7)

—
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11.  Write each of the following complex numbers in standard form (where

i =/-1).
9 __ 95\2
(a) (4 points) %
y_ei49d  _ 4ogi-d
T 2494 3444 |

. 2
=54 (3-94) _24d 4374

(3+9) (3-v¢) T 9+l6

J

al

32
25 25

(b) (4 points) The complex conjugate z of the complex number
z= /=28 4 /=27 + 2007
N . .7
=z )E¢) =3 + ¢ | |
‘2 . 3
= 44 -3 +¢ |
- -4 -3 -t = =74 l

—-—‘5_%:-7—#’{ \

12. (4 points) Write the following expression in simplest form and without the
absolute value symbols:

V9 — 122 + 422

e =35

3
, where x # 5 -

A s G B

J (220

NN
Wr——
e—




